T 7 FERFRF— RIS

TRITHF2LH 4R (K) R R

B O# OB OB % # B 2 = i
FH, FR - BRE BE | ¥HE . BE | XHE . BE i ] =
AB ¥ AB B AB B
é B ER 65 143 2.2 31 334 10.8 96 477 5.0
E EEREER 65 195/ 3.0 26 322 12.4 91 517] 5.7
?{ NP e la== = 60 157 2.6 22 219 10.0 82 376 4.6
QE 190 495 2.6 79 875| 11.1 269 1370 5.1
2 BERERFE2—X 14 45 3.2 4 77| 19.3 18 122 6.8
HiEzE 17 38l 2.2 5 44 8.8 22 82| 3.7
e S HSEFR |[EE 13 31 2.4 5 69] 13.8 18 100 5.6
Hlw KR 8 16| 2.0 3 50| 16.7 11 66| 6.0
i BEBE 22 73] 3.3 5 67| 13.4 27 140 5.2
# ¥ HANRE 17 49| 2.9 4 25| 6.3 21 74| 3.5
§ B " EREER FREE 6 6] 1.0 4 13 3.3 10 19 1.9
§ %|7 |ETEER Eipe13 5 12| 2.4 3 19| 6.3 8 31 3.9
L REEFTHER |REEFTEE 8 23 2.9 5 56 11.2 13 79| 6.1
" BIREER Es A g3 9 46| 5.1 5 86| 17.2 14 132 9.4
AEBERER  (FEEE 8 15[ 1.9 2 18[ 9.0 10 33 3.3
# BERXBEHE=2—X 12 19] 1.6 5 28] 5.6 17 47 2.8
RHREGAELRE 17 43 2.5 10 791 7.9 27 122 4.5
156 416 2.7 60 631] 10.5 216 1,047 4.8
B BEREE - 15 29 1.9 14 147 10.5 29 176] 6.1
B lymera—x 19 431 2.3 10 88| 8.8 29 131 4.5
| b a—2 19 471 2.5 10 108 10.8 29 155 5.3
= EpPFEa—2 19 58] 3.1 10 105 10.5 29 163 5.6
£ £ HWERBRHERE 2 — X 19 571 3.0 10 771 1.7 29 134| 4.6
WAEEEa—X 20 70 3.5 10 46 .6 30 e[ 3.9
111 304 2.7 64 571] 8.9 175 875] 5.0
B AT LT %R 70 94 1.3 40 232 5.8 110 326 3.0
T BREFVAT LATER 75 103 1.4 38 185 4.9 113 288 2.5
¥ |WERELER 60 108] 1.8 35 167| 4.8 95 275] 2.9
& BRI 55 78] 1.4 20 161 8.1 75 239 3.2
WY AT L T%R 30 59 2.0 17 136 8.0 47 195 4.1
/NEE 290 4421 1.5 150 881| 5. 9|| 440 1323 3.0
BEMBER 50 99 2.0 12 72| 6.0 62 171 2.8
B s AR R = — X 24 62| 2.6
| HIRR e RER 8 110[ 13.8 60 238] 4.0
b Mgt A = — 28 66| 2.4
102 227 2.2 20 182 9.1 122 409 3.4
3t i [ FEIR 12 35 2.9
Al ) S 7 53| 1.6 31 15| 3.7
g SEE (KEE) BIR 12 2711 2.3
Bk 24 62| 2.6 7 53 7.6 31 15[ 3.7
BE 873 1946 2.2 380 3193 8.4 1,253 5139 4.1




